True | False

& B3
If4+0,0+4,1+3 3+ 1and 2+ 2 are number bonds to 4,

then the only number bonds to 14 must be:

14+0,0+14 11+3,13+1,12+2and 2 + 12.

Here is an incomplete bar model.

The total is greater than 10 but less than
20

What could the missing numbers be?
How many different combinations can
you find?
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What is the same?

Key Learning: to apply bonds
within 10 to find bonds within 20
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What is different?

M what's the same?

7+3=10 ‘ L

What's different?
17+3=20

20=7+13

0 Jack represents a number bond
Q' to 20 in the part whole model.
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Can you spot his mistake?




